Factoring Refresher

Use the problems below to refresh your factoring skills.

Set 1: Greatest Common Factor

1, 12k - 18

b(ax-3)

2. 40x%y + 64x*y

E Y (Ex*+&)

3. 14m® —35m3 — 7m?
Im? (awm - 5m -1)

4, 3ab? - 5a’b + 8ab
oo db- 50 +8)

** When factoring, always look for a GCF firstl **

Set 2: Trinomials ( ax? + bx + ¢, where a=1)

5. x2 4+ 14x + 45
(x+5)x+a)

6. x2—-15x+ 26

()( -—\5) (X - 3

7. x*+2x—48

(x+ &M X—-b)

8. x2—x-72

(x + &) (x—=)

9, x2+12x+ 36

(x4 (xto) ov iy

10.x%2-2x+1

(x ~)){x~\) ov (><~~\)9A

11.2x° —16x—40 3 (x &> >0 )

R{x -16)(x +3)

12.5x% — 25x + 30 5()(3_5)(-‘,((,)

5( x -3)(x -a)

Set 3: Trinomials ( ax? + bx + ¢, where a>1)

13.2x% ~ 15x + 18 ac = 3
Ax2—(ax|-3x + 18 W— %

. 5 (x ) —3(x-\v )

(ax-3)(x—)

14.5x2 + 22x — 48
5% % 20x |- 8% —48

Bx(xit) -d 1
(5% -8) (x4 )

548 = 240
A
230 -8
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15.3x%2 — 19x — 40
=3
_ 3% oy x|t 5% -40

3%(x-8 )+ &(x -8
(3x+5)(x-8)

al = o
-4 - 5

16.12x% + 5x — 2
2% +F% ~3% -2 g -3
Yx(3%+a)-1(3x412)
(4% -1 )(Bx+o )

17.6x% — 5x — 21

lox yax - 1yx ~D\
Ix(@x+3)-"1(ax+3)
(3x-7) (ax+3)

AcC= 136
40 =14

18.16x% + 60x — 54 I(3x*+30 x ~)
Aax>abrqbx-07] 2 =20

3[4X(9MQ)-3(3><M)] de o

a(4x-3Y (ox +9 )

QacC =3k
N

- -t

19.9x2 +~ 12x + 4
olxg-(oy]-lox 4

’,._.,@ 3¥(3x-2) -2 (3%x)

(3x-2)3%x-3)
ov
(3% -2)

20.8x* +56x+96  2( 2y x +12)

(X +3)(x14)

Set 4: Difference of Squares (a®> —b?) = (a+b)(a—b)

21.x% -4 X a

(X +a)x -2)

2.
22.x 81 X q

(x +a) (x-a)

23.9x% — 25y* I 5\/ 2

(3x+5y>)(3% -5y*)

24.y%x* — 49 Y% |

(3x+‘7)(jx~7)
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